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IMPORTANT NOTES

(A) Please fill up the OMR Sheet of this Question- Answer Booklet properly before answering.
T qfeRT § W 61 B | Ud SH% T I1UH. A, T B 9ol UK § 9 e |

(B)  The question paper is divided into different unit and parts. The number of questions to be attempted and their
marks are indicated in each unit and parts.
wyA-ue fafu=t gfte o i F fawfea € | v giee v 9§ I TR S ATl el S HE SR 3% 3% 39
gie g vIT H 3ifhd f6d T E |

(C) Attempt answers either in Hindi or English, not in both. For Language Papers, answer in concerned language
and script, unless directed otherwise to write in Hindi or English specifically.
I 3 A et W H ¥ e v 7 SR, S A TR | 9T [ WAl & 3T SHe! wag v g fer 7 @
few =8, 1@ % o e fovig & o aom & fé<t n oot § So7 39 & fow = forar mam &t

(D)  The candidates should not write the answers beyond the prescribed Ilrmt of words; tailmg > this, marks will be deducted.
Nl Sl 9 ST Ui vest & 9§ 3??&3??%% foRamT TTeT | SHHT Soeied i U7 375 HIS ST |

(E)  Please write answers only in the prescribed space of booklet. Do not write any mark of identity inside the Answer
Script (including Paper for rough work) i.e. name, address, telephone number, Name of God etc. or any irrelevant
words other than the answer of question. Such act will be treated as unfair means. The Commission may also
deduct 5 marks from the marks obtained. if Roll Number is not filled correctly on the O.M.R. Sheet.
Terit oft oo =By SR e Ofvereby e e WA o | e Qs (% i T gied) o eie SRl W ST A,
A T AT 3T P T A AT - WA H A1, efl, TAT o, Sqareil o 9 79al S Hie o TR ¥ ST
VE, A UF 37 o 7 e | U R W3 S §9 SF AR 3T S Sl TE ST | SIS T W IS
T S IO 3T A T ST G S WAl § W 5 3R W e A T & |

(Fy  Candidates are directed that they should not write (answer) out side the border line in every page. Answer written
out side the border line will not be checked bv the F\(ammel
anaferdr s R fomar ST & T veAreR g B ues U | 99 T aTEY WA § a7 e T6l ol | |TeY
T % e i@ T ST 1 Ui gRT Sier el S |

(G) Ifthere is any sort of ambiguity/mistake either of printing or factual nature then out of Hindi and English version
of the question, the English version will be treated as standard.
Ifs fordt W F ot W 1 & HEOT A1 TRATHE UHK I AfC & O WeF ® el adn iU e H 9 i
T A & |

(H)  The Question-Answer Booklet is provided in a sealed envelope to the candidate. Candidate must sign the
declaration as per directions printed on the envelope and return it to the invigilator.
mmmﬂ?wwmnmwm{a | 3ngefl fohrs oY 3ifend THawT o1 U@t BT T BT
T AV I SR H AT BT

(I)  Candidate should fill up all desired details on this attached OMR sheet of Question-Answer Booklet with blue
ball point pen. PIcasu ensure that this OMR Sheet is not torn or damaged.

AT QRTehT & FHOY WorT 39 SLUH. AR, meﬂwﬁmmﬁﬁwmﬁwﬁmw | &

7 % 9% 3NUH.2TR. U9 $8] ¥ He-Hd el 1497 ot °f e & exfause 78l &l |

(J)  This OMR Sheet consists of Two parts, in which some information is pre-printed; remaining details have to be
filled by the candidate.
T% IMUH.AT. T3 &1 91 F a1 &, 599 Piava guamd y=giea & | 99 i gfa anaeli & &=l € |

(K)  If the Question-Answer Booklet is torn or not printed properly, bring it to notice of invigilator and change the
Question-Answer booklet, otherwise the candidate will be liable for that.
s TR Gl e § HEHe A1 3TfEd §, °f SYSITY & eI B o € 997 39 99eidl of, 21 SEHT S1a
3T T F |

oy =i

et g A SAUE. AR, T W e e R ST § a1 39 (R e o effd qgers Sl € rer 39 W TRt w5

TedH Tere 3ifera foar S €, o oM gy vt W ¥ Snatir FRw S S dehT 3R SHeh o st Seeerdl g |

Special Notes :

If there is any wrong information filled by the candidate or any attempt is made to damage it or any marking as identification

is done, then his candidature for the entire examination shall be rejected by the commission, for which he will be liable.
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Paper-I1 )

VI

PAPER — 11 GENERAL STUDIES & GENERAL KNOWLEDGE
(Total 200 Marks)
(Total 43 Questions)

Unit—1 (65 Marks)
@fe -1 (65 3ih)
Part— A Marks : 20
WOT — 37 3w : 20
Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks. ' L _
e el oAl & S S | T e o SY 15-15 VIS W T | Wedeh TR o 2 3 EiRa € |
1. Find the number of 5’s in the following number chain such that sum of two digits before

it is not greater than the sum of two digits that follows it.

24593587652150503503

et 2 77 e ojen # U faw 5 € Rtk 3tk T8 el & &1 37T BT AT SHe Sk aT8 % &l Sl
& I F 37w TE § 2

24593587652150503503

o

A particle can complete a circular round in one minute, but it moves half round
clockwise and one-third round anticlockwise successively. Find the time in which the
particle will complete one round.

Ueh U1 Ueh T 5k Ush 02 § T ¢ Tehall & =] o ShHIER STTHT =056 8! &l e o 741 0%
forerg =Ioh \rel ol faudial feon & =Iofdn & | 98 WHE A Hitord T a8 o1 Uk I3 7056 B |
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3. Find the smallest integer greater than 1 which is simultaneously a square and a cube of
certain integers.

| § e o B | Biel Yolieh Hd HifeTd ST U W1 {ohwel iqad IuTien! &l o o 59 &l |

4. Inaright angle triangle ABC. right angled at B, prove that
(AB)’ + (BC)’ < (AC)’
U FHHT BT ABC & o1 B 9901 € | fog wited T
(AB)* + (BC)? < (AC)?

3. What is the variance of first n natural numbers ?
T n WISl HEAT3T T TET0T 4T & 2
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6. If A, B and C are three sets such that none is a subset of other. Use the Venn Diagram to

find (A-C)A(C=B)
afs A, B & C T U8 T=a9 € b 1% ff S0 ol SUGH=I &l & | 97 3G 1 ITANT Y

(A-C)N(C-B) 3 Bivd |

T If “SHANTI” is coded as A981A4B09, “FORUM™ is coded as 6A5SA8B1A3 in a certain
code language, then how will “BUILD™ be coded in the same language ?
gfg ueh Hived e o § “SHANTI” & A981A4B09 feman Sier €, “FORUM™ @
6A5A8BI1A3 Tor@l ST € d SHT e 9en § “BUILD” ol s/ foram ST 2

8.  Find the area of the shaded portion in the followmg figure.

ﬁﬁﬁﬁﬂﬂmﬁmw&lwm ST it |
A
Il”

<]”>

<1”>

N
L
2
v




s NI

In an examination it is required to get 36% of maximum marks to pass. A student got 94
marks and was declared fail by 14 marks. Calculate the maximum marks.

Tt Tten H 30T B % [T SATuehdH 3 T 36% 1 STERIehdl & | Ueh foamedl & 94
3 U B0 € AT 3Y 14 2k ¥ S0 e Y fear S € | stfushad it i o
ﬂE \_I

10.

An electronic device makes a beep after every 60 seconds. Another device makes a beep
after every 62 seconds. They beep together at 10 a.m. for the first time, then find the time
when they beep together at the earliest.

TS AR STHIUT U 60 HhUS TN U Hel ool & | O ST Uedsh 62
Yehug ugeid IS aSTdl § | UEell Y & g SUSOT 10 am. U W H WY 997 €, °f 98
VET T FG HIT 6 & T {1 il a= = |
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Part-B Marks : 25
R | o g 3 : 25
Note :  Attempt all questions. Answer the following questions in 50 words ecach. Each question
carries 5 marks. ' _ ;
AT | UvEl ST € | A ueEl o 39T 50-50 v 0§ | U Uee % 5 37 Miia &
I1. J. K, L, M. N and O are the members of a family. Professions of all members are

different. If
(1) Family has two married couples.
(i) "M’ is a doctor and his wife is an engineer
(iii) “J" is grand daughter of *O” and sister of ‘L.
(iv) ‘K’ is grand father of ‘L.” and is married to a teacher.
(v) ‘L’ is aclerk and his mother is “N’.
Then. who is the wife of *"M"™ ?
J.K, L, M, N 3R O U% URaR & ¥ £ | 94 Ge=i & =qaa =1 & | afe
(i) Ul 5t foenfea g & |
(i) ‘M’ U Tafehcde & 3 SHH! Uil U Toli—aT & |
(iii) VO’ R EHETT ‘L H TeAE |
(iv) *K’, ‘L’ % ST&T & o 39! VM1 Ueh STeAfent ¥ g5 ¢ |
(v) ‘L’ U% ik & o 9B °@r N & |
T “M’ I Ul i 7 2
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51 sin © sin®
12. Iftan0 = _x&L’ tan ¢ = —X‘—, then prove = = z
1 —xcos ¢ 1l —ycos© sing Yy

o o B x sin ¢ tan ¢ = y sin O ety sin@=£

1 —xcos ¢’ 1 —-ycos® sing Y

13. N is a three digit number that is a multiple of 7, what is the probability that it will be a
multiple of 5 also ?

N T 37 1 7 3 T[UTST <l SIS HEAT & Al SHh 5 o A [OST B I T TG § 2
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4. What is the largest integer not exceeding 1000 which leave remainder 3 when divided by
5, remainder 5 when divided by 7, and remainder 7 when divided by 9 ?
1000 § 31feh 7 &1, &% Fa FSt oiies Wea war 2l e 5 | ffsig et o vvwwer 3, 7 %
feraTfSTet s T YTt 5 @ 9 | feriee R UX S9weT 7 e £ 9

I5. Mr. X invested money in two schemes A and B offering compound interest 5% and 10%

per annum respectively. If the total amount of interest accrued through both schemes
together in two years was ¥ 2075 and the total amount invested was ¥ 15,000. Find the
amount invested in scheme A.

A X 7 37 el A i B # U R e S sEe 5% 3 10% utied TG T
TR Al 2T | A1 2 A o a1 Z A §RT et ST st B i 3 2075 off 7o et
eIt fefarm 71 & % 15,000 o7 | TSt A § FaeT 1 7 i e i |
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Part—-C Marks : 20
T ¥ 3 : 20
Attempt all questions. Answer the following questions in 100 words each. Each question

carries 1_0 marks._ _ o . _
ol gt 3 3me & | e et @ 3R 100-100 IR H T | U 09T % 10 37 T & |

16.

Two tapes A and B can fill a tank in 5 hrs and 20 hrs respectively alone. If both taps are
opened then it takes 30 minutes more to fill the tank completely due to a hole in the tank.

If tank is completely filled then how much time (in hrs) will it take to get tank empty due
to drain water from hole ?

27 A ST B TF SH HHE: 5 6L T 20 HE F Shed W¥ Wahel & | A< AT el @i fed
ST A SH T U 9% % HROT T T WA H 30 e i st o € |

afr 29 T oY g A o 39 9¢ § 9 WR TR % e o o o @rett &9 H e JH
(52T ) T 2
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In an election 10% of the voters on the voter's list did not cast their votes and 60 voters
cast their ballot papers blank. There were only two candidates. The winner was supported
by 47% of all voters in the list and got 308 votes more than his rival. Find the number of
voters on the voter list.

TSk T H HRT el 10% Hrrad 3 ST O T8 e a9 60 meemnet 3 5d 0 e
T | Rt W et &1 SEEar o | feoreter @t qaem T H T 47% Hagranai s gue e o
S9 70 WidEET § 308 T S U U | WA Yo HeRrarai # S s S |
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(Unit-11) (70 Marks)
@re-11) (70 i)
Part - A Marks : 10
0T — 3T w10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2 marks. o '
qe: W Ui H W | oIt T S 15-15 IS B § | Uik U % 2 e i § |

. A light and a heavy body have same momentum. Which one will have greater kinetic
energy ?

T ZAS U TRT a%] Wl T THA & | 59 @ Tepapy it Sott ek & 2

S8

How does the density of nuclear matter depends on size of nucleus ? Does the density of
atom also follows the same rule ?
mﬁwﬁamwmmﬁm%wwmwﬁﬁ?m%?wmwmﬁsﬁ
e BT TR L € 2
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3. What do you understand by “Jouie-Thomson effect” 7

STA-ATHE TTE T 31T T H3i & 9

4. Write the name of causal organism and vector of *Den gue fever’.

T @R % FR S 7 T a8 FHT A AT |

5. What are umbrella species ? Give an example of umbrella species.

A TSIl 91 § 2 D USTIel 6l Ueh 32T ST |
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Paper-11
Part—B Marks : 20
T - 3 : 20
Note: Attempt all questions. Answer the following questions in 50 words each. Each question
carries 3 marks. ‘ o ) _
e e e % S S | P et T ST 50-50 v H E | e We o 5 31 (T € |
6.  Write Kepler’s law of planetary motion.
W T % e o FEE @ fAfE |
7 The concentration of Hydrogen ion in a sample of soft drink is 4.0 x 103 M. What is its
pH ? (log,,2 = 0.301)
ey e 3 T BTEEe e A 4.0 x 10° M E | =T pH = & 2
(logi32=0.301)
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8.

Write a note on genetically engineered insulin.

SETeRd: AT Tgfe TR feorol fafaw |

9.

Enlist various trophic levels in an ecosystem and give suitable example of each trophic
level.
TS IR oF o fafa=T O w2 i geidg i a9 Teiss at T % S 30T e |
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Part - C Marks : 40
VAT -9 3 : 40
Note : Attempt all questions. Answer the following questions in 100 words each. Each question
carries 10 marks. _ o ‘
AT: W U H IS | A Ul 7 3R 100-100 IR H S | Ued U9 & 10 3 HEia € |

10.  What do you understand with communication system ? Give block diagram of
communication system 'md e%plam 1ts elements.
AR T T 319 R WHErd € ? WA (e w1 steh (o S0 gU 39k 31aga sl THEsy |
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11. Distinguish between conductor, semi-conductor and insulator on the basis of band theory
of solid.
2 & 5% g & YR W =i, TS 9 Haed H 9g Hieid |
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12.  What are chromosomal disorders in human beings ? Write causes and symptoms of any
two such disorders.

& H TR faehI @ i € 2 T UK % foheel of faeRT % R a el fafay |
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13.  Discuss the Breed Improvement Programme undertaken by the Department of Animal
Husbandry, Government of Rajasthan.
ISR T & TR forTT §RT T ST 8 A9t YR Hrashy i [gaemT it |
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(Unit-11I) (65 Marks)
(@fe-110) (65 3i=F)
Part— A Marks : 10
0T — 3 3w : 10

Note : Attempt all questions. Answer the following questions in 15 words each. Each question
carries 2' marks. _ _ . _
Hre. Wl U H IS | U 6 ST 15-15 IS H § | Uede U9 % 2 @ (iRa § |

I What are the meteoric lakes ?

I Hied /T 2

2. What is Epicentre ?
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3 Which are the areas of India, receive winter rain ?

TR & I T T Il aul U i & 2

4. Write the names of major non-metallic minerals of Rajasthan.
TS & T STTfcdeh WSt & 919 forad |

5. What are the male and female literacy rates in Rajasthan as per Census-2011 ?
T 2011 T STUMT 3 SR TSI | [60 U6 S el i 8 71 ¢ 2
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Part—B Marks : 25
HT-—d HAb: 25
Note : Attempt all questions. Answer the following questions in 50 words each. Each question
carries 5 marks. ‘ o _
qMe: Wl g I | A Al I 50-50 IR H S | U U % S 3 i g
6.  Explain in brief the location, names and importance of the great lakes of North America.
ST STHERT ST e Sl bl STafedfa, 919 Ue Fewe Sl Haiq H ¥ i |
7. Describe the “Bshw’ type of climate of India.
qRT &l ‘Bshw’ THR Bl STATaT] Sl T Hi |
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8. Discuss the impact of La-Nina on Indian Monsoon.

RATE AHEA T A-AMT & THE 6l T Hited |

9.  Discuss in brlel‘ the types and distribution of building stones in Rajasthan.
TN | AR 9e2Rl % T el faeeon WH&}'JHW%’&
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10. Write about the distribution and industrial uses of lignite coal in Rajasthan.
T | o122 Fidel & foaeor ue i SUaiT & 9 J faf@d |

Part-C Marks : 30
HT-—N A&b : 30
Note : Attempt all questions. Answer the following questions in 100 words each. Each question

carries 1_0 marks.‘ _ o o _
Az: 9 U F IS | T uvEl o 39T 100-100 IS § T | Ueds U o 10 376 Fuiia §

1. Explain the divisions of Geological Time Scale.

TR T IR0 & fenISiHT Sl T it |
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12. Divide coastal plains of India into sub-divisions and explain their characteristics.

A % T21g USHT Bl U | forifra shifsra o Se! ferianaii < aui Hifs |
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[3.  Describe the habitat, economy and society of Bhil tribe in Rajasthan.
TS | e ST & 2779, 2Teedell Uel TS &1 U Hhited |
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